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QUESTION 1

You need to create a JSP that generates some JavaScript code to populate an array of strings used on the client-side.
Which JSP code snippet will create this array? 

A. MY_ARRAY = new Array(); 

B. MY_ARRAY = new Array(); 

C. MY_ARRAY = new Array();MY_ARRAY[] = \\'\\'; 

D. MY_ARRAY = new Array();MY_ARRAY[$ {i}] = \\'${serverArray[i]}\\'; 

Correct Answer: C 

 

QUESTION 2

Which security mechanism uses the concept of a realm? 

A. authorization 

B. data integrity 

C. confidentiality 

D. authentication 

Correct Answer: D 

 

QUESTION 3

Given this fragment in a servlet: 

23.

 if(req.isUserInRole("Admin")) { 

24.

 // do stuff 

25.

 } 

And the following fragment from the related Java EE deployment descriptor: 

812.
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813.

 Admin 

814.

 Administrator 

815.

  

900.

  

901.

 Admin 

902.

 Administrator 

903.

  

What is the result? 

A. Line 24 can never be reached. 

B. The deployment descriptor is NOT valid. 

C. If line 24 executes, the user\\'s role will be Admin. 

D. If line 24 executes, the user\\'s role will be Administrator. 

E. If line 24 executes the user\\'s role will NOT be predictable. 

Correct Answer: D 

 

QUESTION 4

Given the definition of MyServlet: 

11.

 public class MyServlet extends HttpServlet { 

12.

 public void service(HttpServletRequest request, 

13.
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 HttpServletResponse response) 

14.

 throws ServletException, IOException { 

15.

 HttpSession session = request.getSession(); 16 session.setAttribute("myAttribute","myAttributeValue"); 

17.

 session.invalidate(); 

18.

 response.getWriter().println("value=" + 

19.

 session.getAttribute("myAttribute")); 

20.

 } 

21.

 } 

What is the result when a request is sent to MyServlet? 

A. An IllegalStateException is thrown at runtime. 

B. An InvalidSessionException is thrown at runtime. 

C. The string "value=null" appears in the response stream. 

D. The string "value=myAttributeValue" appears in the response stream. 

Correct Answer: A 

 

QUESTION 5

Given: 

5.

 public class MyTagHandler extends TagSupport { 

6.

 public int doStartTag() throws JspException { 

7.

1Z0-858 PDF Dumps | 1Z0-858 Study Guide | 1Z0-858 Braindumps                              4 / 11

https://www.pass2lead.com/1z0-858.html
https://www.pass2lead.com/1z0-858.html
https://www.pass2lead.com/1z0-858.html


https://www.pass2lead.com/1z0-858.html
2023 Latest pass2lead 1Z0-858 PDF and VCE dumps Download

 try { 

8.

 // insert code here 

9.

 } catch(Exception ex) { /* handle exception */ } 

10.

 return super.doStartTag(); 

11.

 } ... 

42. } 

Which code snippet, inserted at line 8, causes the value foo to be output? 

A. JspWriter w = pageContext.getOut(); 

B. print("foo"); 

C. JspWriter w = pageContext.getWriter(); 

D. print("foo"); 

E. JspWriter w = new JspWriter(pageContext.getWriter()); 

F. print("foo"); 

G. JspWriter w = new JspWriter(pageContext.getResponse()); 

H. print("foo"); 

Correct Answer: A 

 

QUESTION 6

Which three are true about servlet filters? (Choose three.) 

A. A filter must implement the destroy method. 

B. A filter must implement the doFilter method. 

C. A servlet may have multiple filters associated with it. 

D. A servlet that is to have a filter applied to it must implement the javax.servlet.FilterChain interface. 

E. A filter that is part of a filter chain passes control to the next filter in the chain by invoking the FilterChain.forward
method. 

1Z0-858 PDF Dumps | 1Z0-858 Study Guide | 1Z0-858 Braindumps                              5 / 11

https://www.pass2lead.com/1z0-858.html
https://www.pass2lead.com/1z0-858.html
https://www.pass2lead.com/1z0-858.html


https://www.pass2lead.com/1z0-858.html
2023 Latest pass2lead 1Z0-858 PDF and VCE dumps Download

F. For each element in the web application deployment descriptor, multiple instances of a filter may be created by the
web container. 

Correct Answer: ABC 

 

QUESTION 7

Given: 

11.

  

Which three EL expressions are valid and evaluate to true? (Choose three.) 

A. ${not map.c} 

B. ${map.d or map.a} 

C. ${map.a and map.d} 

D. ${map.false or map.true} 

E. ${map.a and map.b or map.a} 

F. ${map[\\'true\\'] or map[\\'false\\']} 

Correct Answer: ABE 

 

QUESTION 8

Given: 

6.

  

Which two successfully translate and result in a value of true? (Choose two.) 

A. ${true or false} 

B. ${requestScope[foo][0] > 500} 

C. ${requestScope[\\'foo\\'][1] = 420} 

D. ${(requestScope[\\'foo\\'][0] lt 50) andand (3 gt 2)} 

Correct Answer: AD 

 

QUESTION 9
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Place the appropriate element names on the left on the web application deployment descriptor on the right so that files
ending in ".mpg" are associated with the MIME type "video/mpeg." 

Select and Place: 

Select and Place: 

Correct Answer: 

1Z0-858 PDF Dumps | 1Z0-858 Study Guide | 1Z0-858 Braindumps                              7 / 11

https://www.pass2lead.com/1z0-858.html
https://www.pass2lead.com/1z0-858.html
https://www.pass2lead.com/1z0-858.html


https://www.pass2lead.com/1z0-858.html
2023 Latest pass2lead 1Z0-858 PDF and VCE dumps Download

 

 

QUESTION 10

Given the security constraint in a DD: 

101.

  

102.

  

103.

 Foo 

104.

 /Bar/Baz/* 

105.

 POST 

106.

  

107.
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108.

 DEVELOPER 

109.

  

110.

  

And given that "MANAGER" is a valid role-name, which four are true for this security constraint? (Choose four.) 

A. MANAGER can do a GET on resources in the /Bar/Baz directory. 

B. MANAGER can do a POST on any resource in the /Bar/Baz directory. 

C. MANAGER can do a TRACE on any resource in the /Bar/Baz directory. 

D. DEVELOPER can do a GET on resources in the /Bar/Baz directory. 

E. DEVELOPER can do only a POST on resources in the /Bar/Baz directory. 

F. DEVELOPER can do a TRACE on any resource in the /Bar/Baz directory. 

Correct Answer: ACDF 

 

 

QUESTION 11

Which retrieves all cookies sent in a given HttpServletRequest request? 

A. request.getCookies() 

B. request.getAttributes() 

C. request.getSession().getCookies() 

D. request.getSession().getAttributes() 

Correct Answer: A 

 

QUESTION 12

Every page of your web site must include a common set of navigation menus at the top of the page. This menu is static
HTML and changes frequently, so you have decided to use JSP\\'s static import mechanism. Which JSP code snippet
accomplishes this goal? 

A.  
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B.  

C.  

D.  

E.  

F.  

Correct Answer: D 

 

QUESTION 13

You want to create a valid directory structure for your Java EE web application, and your application uses tag files and a
JAR file. Which three must be located directly in your WEB-INF directory (NOT in a subdirectory of WEB-INF)? (Choose
three.) 

A. The JAR file 

B. A directory called lib 

C. A directory called tags 

D. A directory called TLDs 

E. A directory called classes 

F. A directory called META-INF 

Correct Answer: BCE 

 

QUESTION 14

In a JSP-centric web application, you need to create a catalog browsing JSP page. The catalog is stored as a List object
in the catalog attribute of the webapp\\'s ServletContext object. Which scriptlet code snippet gives you access to the
catalog object? 

A.  

B.  

C.  

D.  

Correct Answer: C 

 

QUESTION 15

Given: 
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String value = getServletContext().getInitParameter("foo"); 

in an HttpServlet and a web application deployment descriptor that contains: 

 foo frodo  

Which two are true? (Choose two.) 

A. The foo initialization parameter CANNOT be set programmatically. 

B. Compilation fails because getInitParameter returns type Object. 

C. The foo initialization parameter is NOT a servlet initialization parameter. 

D. Compilation fails because ServletContext does NOT have a getInitParameter method. 

E. The foo parameter must be defined within the element of the deployment descriptor. 

F. The foo initialization parameter can also be retrieved using getServletConfig().getInitParameter("foo"). 

Correct Answer: AC 
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